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Day and Date of Examination :

(¬⁄UËˇÊÊ ∑§Ê ÁŒŸ fl ÁŒŸÊ¥∑§)

Signature of Invigilators :

(ÁŸ⁄UËˇÊ∑§Ê¥ ∑§ „SÃÊˇÊ⁄U) 1. 

2. 

General Instructions :
1. Answers of all questions are to be given in the Answer-Book given to you.
2. 15 minute time has been allotted to read this Question Paper.  The question paper will be distributed

at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question paper only and
will not write any answer on the Answer-Book during this period.

3. Candidate must write his/her Roll Number on the first page of the Question Paper.
4. Please check the Question Paper to verify that the total pages and total number of questions

contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

5. For the objective-type of questions, you have to choose any one of the four alternatives given in the
question i.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book given to
you.

6. All the questions including objective-type questions are to be answered within the allotted time
and no separate time limit is fixed for answering objective-type questions.

7. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

8. Write your Question Paper Code No. 67/OS/1-A on the Answer-Book.
9. (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can answer

in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in
the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.

This Question Paper consists of 44 questions and 15 printed pages+Graph Sheet.

ß‚ ¬˝‡Ÿ-¬òÊ ◊¥ 44 ¬˝‡Ÿ ÃÕÊ 15 ◊ÈÁŒ˝Ã ¬Îc∆U+ª˝Ê»§ ‡ÊË≈U „Ò¥–
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•ŸÈ∑˝§◊Ê¥∑§
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∑§Ê«U Ÿ¥.
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‚Ê◊Êãÿ •ŸÈŒ‡Ê —
1. ‚÷Ë ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U •Ê¬∑§Ê ŒË ªÿË ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „Ë Á‹π¥–
2. ß‚ ¬˝‡Ÿ-¬òÊ ∑§Ê ¬…∏Ÿ ∑§ Á‹∞ 15 Á◊Ÿ≈U ∑§Ê ‚◊ÿ ÁŒÿÊ ªÿÊ „Ò– ¬˝‡Ÿ-¬òÊ ∑§Ê ÁflÃ⁄UáÊ ŒÊ¬„⁄U ◊¥ 02.15 ’¡ Á∑§ÿÊ ¡Ê∞ªÊ–

02.15 ’¡ ‚ 02.30 ’¡ Ã∑§ ¿UÊòÊ ∑§fl‹ ¬˝‡Ÿ-¬òÊ ∑§Ê ¬…∏¥ª •ÊÒ⁄U ß‚ •flÁœ ∑§ ŒÊÒ⁄UÊŸ fl ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ¬⁄U ∑§Êß¸ ©ûÊ⁄U Ÿ„Ë¥
Á‹π¥ª–

3. ¬⁄UËˇÊÊÕË¸ ¬˝‡Ÿ-¬òÊ ∑§ §¬„‹ ¬Îc∆U ¬⁄U •¬ŸÊ •ŸÈ∑˝§◊Ê¥∑§ •fl‡ÿU Á‹π¥–

4. ∑Î§¬ÿÊ ¬˝‡Ÿ-¬òÊ ∑§Ê ¡ÊÚ°ø ‹¥ Á∑§ ¬˝‡Ÿ-¬òÊ ∑§ ∑È§‹ ¬Îc∆UÊ¥ ÃÕÊ ¬˝‡ŸÊ¥ ∑§Ë ©ÃŸË „Ë ‚¥ÅUÿÊ „Ò Á¡ÃŸË ¬˝Õ◊ ¬Îc∆ ∑ §‚’‚ ™§¬⁄U
¿U¬Ë „Ò– ß‚ ’ÊÃ ∑§Ë ¡ÊÚ°ø ÷Ë ∑§⁄U ‹¥ Á∑§ ¬˝‡Ÿ ∑˝ Á◊∑§ UM§¬ ◊¥ „Ò¥–

5. flSÃÈÁŸc∆U ¬˝‡ŸÊ¥ ◊¥ •Ê¬∑§Ê øÊ⁄U Áfl∑§À¬Ê¥ (A), (B), (C) ÃÕÊ (D) ◊¥ ‚ ∑§Êß¸ ∞∑§ ©ûÊ⁄U øÈŸŸÊ „Ò ÃÕÊ ŒË ªß¸ ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥
‚„Ë ©ûÊ⁄U Á‹πŸÊ „Ò–

6. flSÃÈÁŸc∆U ¬˝‡ŸÊ¥ ∑§ ‚ÊÕ-‚ÊÕ ‚÷Ë ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U ÁŸœÊ¸Á⁄UÃ •flÁœ ∑§ ÷ËÃ⁄U „Ë ŒŸ „Ò¥–  flSÃÈÁŸc∆U ¬˝‡ŸÊ¥ ∑§ Á‹∞ •‹ª ‚
‚◊ÿ Ÿ„Ë¥ ÁŒÿÊ ¡Ê∞ªÊ–

7. § ©ûÊ⁄U-¬ÈÁSUÃ∑§Ê ◊¥ ¬„øÊŸ-Áøq ’ŸÊŸ •ÕflÊ ÁŸÁŒ¸c≈U SÕÊŸÊ¥ ∑§§•ÁÃÁ⁄UÄÃ ∑§„Ë¥ ÷Ë •ŸÈ∑˝§◊Ê¥∑§ Á‹πŸ ¬⁄U ¬⁄UËˇÊÊÕË¸ ∑§Ê •ÿÊÇÿ
∆U„⁄UÊÿÊ ¡ÊÿªÊ–

8. •¬ŸË ©ûÊ⁄U-¬ÈÁSUÃ∑§Ê ¬⁄U ¬˝‡Ÿ-¬òÊ ∑§Ê ∑§Ê«U Ÿ¥. 67/OS/1-A Á‹π¥–

9. (∑§) ¬˝‡Ÿ-¬òÊ ∑§fl‹ •¥ª˝¡Ë/Á„¥ŒË ◊¥ „Ò–  Á»§⁄U ÷Ë, ÿÁŒ •Ê¬ øÊ„¥ ÃÊ ŸËø ŒË ªß¸ Á∑§‚Ë ∞∑§ ÷Ê·Ê ◊¥ ©ûÊ⁄ Œ ‚∑§Ã „Ò¥ —

•¥ª˝¡Ë, Á„¥ŒË, ©ŒÍ¸, ¬¥¡Ê’Ë, ’°ª‹Ê, ÃÁ◊‹, ◊‹ÿÊ‹◊, ∑§ãŸ«∏, Ã‹ÈªÍ, ◊⁄UÊ∆UË, ©Á«∏ÿÊ, ªÈ¡⁄UÊÃË, ∑§Ê¥∑§áÊË,
◊ÁáÊ¬È⁄UË, •‚Á◊ÿÊ, Ÿ¬Ê‹Ë, ∑§‡◊Ë⁄UË, ‚¥S∑Î§Ã§•ÊÒ⁄U Á‚¥œË–

∑Î§¬ÿÊ ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ÁŒ∞ ª∞ ’ÊÚÄ‚ ◊¥ Á‹π¥ Á∑§ •Ê¬ Á∑§‚ ÷Ê·Ê ◊¥ ©ûÊ⁄U Á‹π ⁄U„ „Ò¥–

(π) ÿÁŒ •Ê¬ Á„¥ŒË ∞fl¥ •¥ª˝¡Ë ∑§ •ÁÃÁ⁄UÄÃ Á∑§‚Ë •ãÿ ÷Ê·Ê ◊¥ ©ûÊ⁄U Á‹πÃ „Ò¥, ÃÊ ¬˝‡ŸÊ¥ ∑§Ê ‚◊¤ÊŸ ◊¥ „ÊŸ flÊ‹Ë
òÊÈÁ≈UÿÊ¥/ª‹ÁÃÿÊ¥ ∑§Ë Á¡ê◊UŒÊ⁄Ë ∑ fl‹ •Ê¬∑§Ë „ÊªË–
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Time : 2½ Hours ] [ Maximum Marks : 85

‚◊ÿ — 2½ ÉÊá≈U ] [ ¬ÍáÊÊZ∑§ — 85

Note :

(i) This question paper consists of 44 questions in all.

(ii) All questions are compulsory.

(iii) Marks are given against each question.

(iv) Section - A consists of

(a) Q.No. 1 to 17 - Multiple Choice type Questions (MCQs) carrying 1 mark each.  Select and
write the most appropriate option out of the four options given in each of these questions.
An internal choice has been provided in some of these questions.  You have to attempt
only one of the given choices in such questions.

(b) Q.No. 18 to 28 - Objective Type Questions.  Q.No. 18 to 27 carry 2 marks each (with 2
sub-parts of 1 mark each) and Q.No. 28 carries 5 marks (with 5 sub-parts of 1 mark each).
Attempt these questions as per the instructions given for each of the questions 18 to 28.

(v) Section - B consists of

(a) Q.No. 29 to 37 - Very Short Answer type questions carrying 2 marks each.

(b) Q.No. 38 to 42 - Short Answer type questions carrying 3 marks each.

(c) Q.No. 43 and 44 - Long Answer type questions carrying 5 marks each.

ÁŸŒ¸‡Ê —

(i) ß‚ ¬˝‡Ÿ-¬òÊ ◊¥ ∑È§‹ 44 ¬˝‡Ÿ „Ò¥–

(ii) ‚÷Ë ¬˝‡Ÿ •ÁŸflÊÿ¸ „Ò¥–

(iii) ¬˝àÿ∑§ ¬˝‡Ÿ ∑§ ‚Ê◊Ÿ ©‚∑§ •¥∑§ ÁŒ∞ ª∞ „Ò¥–

(iv) πá«U - ∑§ ◊¥ ‡ÊÊÁ◊‹ „Ò¥ —

(a) ¬˝‡Ÿ ‚¥ÅÿÊ 1 ‚ 17 Ã∑§ ’„ÈÁfl∑§À¬Ëÿ ¬˝∑§Ê⁄U ∑§ ¬˝‡Ÿ „Ò¥ •ÊÒ⁄U ¬˝àÿ∑§ 1 •¥∑§ ∑§Ê „Ò–  ßŸ◊¥ ‚ ¬˝àÿ∑§ ¬˝‡Ÿ ◊¥ ÁŒ∞ ª∞
øÊ⁄U Áfl∑§À¬Ê¥ ◊¥ ‚ ‚’‚ ©¬ÿÈÄÃ Áfl∑§À¬ ∑§Ê øÿŸ ∑§⁄U Á‹πŸÊ „Ò–  ßŸ◊¥ ‚ ∑È§¿U ¬˝‡ŸÊ¥ ◊¥ •Ê¥ÃÁ⁄U∑§ Áfl∑§À¬ ÁŒ∞ ª∞
„Ò¥–  •Ê¬∑§Ê ∞‚ ¬˝‡ŸÊ¥ ◊¥ ÁŒ∞ ª∞ Áfl∑§À¬Ê¥ ◊¥ ‚ ∑§fl‹ ∞∑§ Áfl∑§À¬ ∑§Ê „Ë ©ûÊ⁄U Á‹πŸÊ „ÊªÊ–

(b) ¬˝‡Ÿ ‚¥ÅÿÊ 18 ‚ 28 Ã∑§ flSÃÈÁŸc∆U ¬˝∑§Ê⁄U ∑§ ¬˝‡Ÿ „Ò¥–  ¬˝‡Ÿ ‚¥ÅÿÊ 18 ‚ 27 Ã∑§ ¬˝àÿ∑§ ¬˝‡Ÿ 2 •¥∑§Ê¥ ∑§ „Ò¥
(¬˝àÿ∑§ 1 •¥∑§ ∑§ 2 ©¬-÷ÊªÊ¥ ∑§ ‚ÊÕ) •ÊÒ⁄U ¬˝‡Ÿ ‚¥ÅÿÊ 28, 5 •¥∑§Ê¥ ∑§Ê „Ò (¬˝àÿ∑§ 1 •¥∑§ ∑§ 5 ©¬-÷ÊªÊ¥ ∑§
‚ÊÕ) ¬˝àÿ∑§ ¬˝‡Ÿ 18 ‚ 28 ∑§ Á‹∞ ÁŒ∞ ª∞ ÁŸŒ¸‡ÊÊ¥ ∑§ •ŸÈ‚Ê⁄U ßŸ ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U Á‹π¥–

(v) πá«U - π§ ◊¥ ‡ÊÊÁ◊‹ „Ò¥ —

(a) ¬˝‡Ÿ ‚¥ÅÿÊ 29 ‚ 37 Ã∑§ •ÁÃ ‹ÉÊÈ-©ûÊ⁄UËÿ ¬˝∑§Ê⁄U ∑§ ŒÊ-ŒÊ •¥∑§Ê¥ ∑§ ¬˝‡Ÿ „Ò¥–

(b) ¬˝‡Ÿ ‚¥ÅÿÊ 38 ‚ 42 Ã∑§ ‹ÉÊÈ-©ûÊ⁄UËÿ ¬˝∑§Ê⁄U ∑§ ÃËŸ-ÃËŸ •¥∑§Ê¥ ∑§ ¬˝‡Ÿ „Ò¥–

(c) ¬˝‡Ÿ ‚¥ÅÿÊ 43 •ÊÒ⁄U 44 Ã∑§ ŒËÉÊ¸ ©ûÊ⁄UËÿ ¬˝∑§Ê⁄U ∑§ ¬Ê°ø-¬Ê°ø •¥∑§Ê¥ ∑§ ¬˝‡Ÿ „Ò¥–
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SECTION - A / πá«U - ∑§

1. x2−5x+6 can be written in the form of factors as : 1

x2−5x+6 ∑§Ê ªÈáÊŸπ¥«UÊ¥ ∑§ M§¬ ◊¥ ß‚ ¬˝∑§Ê⁄U Á‹πÊ ¡Ê ‚∑§ÃÊ „Ò —

(A) (x+3)(x−2) (B) (x−3)(x+2)

(C) (x+4)(x+2) (D) (x−3)(x−2)

OR / •ÕflÊ

9x2−y2 can be written in the form of factors as :

9x2−y2 ∑§Ê ªÈáÊŸπ¥«UÊ¥ ∑§ M§¬ ◊¥ ß‚ ¬˝∑§Ê⁄U Á‹πÊ ¡Ê ‚∑§ÃÊ „Ò —

(A) (3x+y)(3x−y) (B) (3x+y)2

(C) (3x−y)2 (D) (x−3y)(x+3y)

2. Which of the following is not a linear equation ? 1

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ-‚Ê ⁄ÒUÁπ∑§ ‚◊Ë∑§⁄UáÊ Ÿ„Ë¥ „Ò?

(A) x+2=3x (B)     2   7x y y  + = ⋅ +

(C) x+y2=7−2x (D) x−y=7

OR / •ÕflÊ

Which of the following is a quadratic equation ?

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ-‚Ê ÁmÉÊÊÃ ‚◊Ë∑§⁄UáÊ „Ò?

(A) 2
2     1x x− = (B) x2−5x+2=0

(C)
3

    2 ,  0x x x

x

≠+ = (D) x3+2x2−4x+1=0

3. If x+2, 2x+5 and 4x+8 are in AP then the value of x is : 1

ÿÁŒ x+2, 2x+5 ∞fl¥ 4x+8 ∞∑§ ‚◊Ê¥Ã⁄U üÊ…∏Ë ◊¥ „Ò¥, ÃÊ x ∑§Ê ◊ÊŸ „Ò —

(A) 0 (B) 2 (C) −2 (D) 1

OR / •ÕflÊ

The number of terms of the AP :

3, 17, 31, . . ., 101 is :

‚◊Ê¥Ã⁄U üÊ…∏Ë 3, 17, 31, . . ., 101 ∑§ ¬ŒÊ¥ ∑§Ë ‚¥ÅÿÊ „Ò —

(A) 6 (B) 7 (C) 8 (D) 9



5  [ Contd...67/OS/1-211-A ]

4. If the quadratic equation kx2−12x+6=0 has equal real roots, then the value of k is : 1

ÿÁŒ ÁmÉÊÊÃ ‚◊Ë∑§⁄UáÊ kx2−12x+6=0 ∑§ ◊Í‹ flÊSÃÁfl∑§ ÃÕÊ ‚◊ÊŸ „Ò¥, ÃÊ k ∑§Ê ◊ÊŸ „Ò —
(A) −6 (B) 6 (C) −4 (D) 4

OR / •ÕflÊ
Roots of the quadratic equation 2x2−3x+5=0 are :

(A) real (B) real and equal

(C) real and unequal (D) not real

ÿÁŒ ÁmÉÊÊÃ ‚◊Ë∑§⁄UáÊ 2x2−3x+5=0 ∑§ ◊Í‹ „Ò¥ —

(A) flÊSÃÁfl∑§ (B) flÊSÃÁfl∑§ ∞fl¥ ‚◊ÊŸ

(C) flÊSÃÁfl∑§ ∞fl¥ •‚◊ÊŸ (D) •flÊSÃÁfl∑§

5. 3.7 is equivalent to : 1

3.7 ‚◊ÃÈÀÿ „Ò —
(A) 3.7% (B) 37% (C) 370% (D) 0.37%

OR / •ÕflÊ
0.2% can be written as :

0.2% ∑§Ê ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ M§¬ ◊¥ Á‹πÊ ¡Ê ‚∑§ÃÊ „Ò?
(A) 0.2 (B) 0.02 (C) 2.0 (D) 0.002

6. In the word “PERCENTAGE” what percent of the letters are E’s ? 1

‡ÊéŒ “PERCENTAGE” ∑§ ∑È§‹ •ˇÊ⁄UÊ¥ ∑§Ê Á∑§ÃŸ ¬˝ÁÃ‡ÊÃ˜ •ˇÊ⁄U E „Ò¥?
(A) 30% (B) 40% (C) 25% (D) 20%

OR / •ÕflÊ
When 60 is reduced to 45, then percentage of reduction is :

ÿÁŒ 60 ∑§Ê ∑§◊ ∑§⁄U∑§ 45 ∑§⁄U ÁŒÿÊ ¡Ê∞, ÃÊ ¬˝ÁÃ‡ÊÃ ∑§◊Ë „Ò —

(A) 40% (B)
1

33 %
3

(C) 25% (D) 75%

7. Which of the following statements is true for a cyclic quadrilateral ? 1

(A) one of the opposite angles is always acute.

(B) opposite angles are supplementary.

(C) opposite angles are complementary.

(D) one of the opposite angles is always obtuse.

∞∑§ ø∑˝§Ëÿ øÃÈ÷È¸¡ ∑§ Á‹∞ ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ-‚Ê ∑§ÕŸ ‚àÿ „Ò?

(A) ‚ê◊Èπ ∑§ÊáÊÊ¥ ◊¥ ‚ ∞∑§ ‚ŒÒfl ãÿÍŸ ∑§ÊáÊ „ÊÃÊ „Ò–

(B) ‚ê◊Èπ ∑§ÊáÊ ‚¥¬Í⁄U∑§ „ÊÃ „Ò¥–

(C) ‚ê◊Èπ ∑§ÊáÊ ¬Í⁄U∑§ „ÊÃ „Ò¥–

(D) ‚ê◊Èπ ∑§ÊáÊÊ¥ ◊¥ ‚ ∞∑§ ‚ŒÒfl •Áœ∑§ ∑§ÊáÊ „ÊÃÊ „Ò–

OR / •ÕflÊ
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Angle subtended at the centre by a semicircle is :

(A) acute angle (B) obtuse angle

(C) right angle (D) straight angle

•œ¸flÎûÊ ◊¥ •¥ÃÁ⁄UÃ ∑§ÊáÊ „ÊÃÊ „Ò —

(A) ãÿÍŸ ∑§ÊáÊ (B) •Áœ∑§ ∑§ÊáÊ

(C) ‚◊∑§ÊáÊ (D) ‚⁄U‹ ∑§ÊáÊ

8. Distance (in units) of the point (3, 4) from x-axis is : 1

Á’ãŒÈ (3, 4) ∑§Ë x-•ˇÊ ‚ ŒÍ⁄UË (ß∑§Êß¸ÿÊ¥ ◊¥) „Ò —

(A) 3 (B) 4 (C) 5 (D) 6

OR / •ÕflÊ

Point (4, −5) lies in which of the following quadrants ?

(A) First (B) Second (C) Third (D) Fourth

Á’ãŒÈ (4, −5) ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ øÃÈÕÊZ‡Ê ◊¥ ÁSÕÃ „Ò?

(A) ¬˝Õ◊ (B) ÁmÃËÿ (C) ÃÎÃËÿ (D) øÃÈÕ¸

9. Number of tangents drawn, from a point in the interior of a circle, to the circle is : 1

Á∑§‚Ë flÎûÊ ∑§ •ãÃ— Á’ãŒÈ ‚ ©‚ flÎûÊ ¬⁄U πË¥ø ¡ÊŸ flÊ‹Ë S¬‡Ê¸ ⁄UπÊ•Ê¥ ∑§Ë ‚¥ÅÿÊ „Ò —

(A) 1 (B) 2 (C) 4 (D) 0

10. Two parallel sides of a trapezium are 28 cm and 12 cm.  If the distance between these parallel
sides is 9 cm, then its area (in cm2) is :

Á∑§‚Ë ‚◊‹¥’ ∑§Ë ‚◊Ê¥Ã⁄U ÷È¡Ê∞° 28 ‚.◊Ë. •ÊÒ⁄U 12 ‚.◊Ë. „Ò¥–  ÿÁŒ ßŸ ‚◊Ê¥Ã⁄U ÷È¡Ê•Ê¥ ∑§ ’Ëø ∑§Ë ŒÍ⁄UË 9 ‚.◊Ë. „Ò,
ÃÊ ©‚ ‚◊‹¥’ ∑§Ê ˇÊòÊ»§‹ (flª¸ ‚.◊Ë. ◊¥) „Ò —

(A) 90 (B) 180 (C) 360 (D) 540

11. Total surface area (in cm2) of a solid hemisphere of radius 7 cm is : 1

ÁòÊíÿÊ 7 ‚.◊Ë. ∑§ ∆UÊ‚ •œ¸ªÊ‹ ∑§Ê ∑È§‹ ¬Îc∆UËÿ ˇÊòÊ»§‹ (flª¸ ‚.◊Ë. ◊¥) „Ò —

(A) 154 (B) 231 (C) 308 (D) 462

12. In a ∆ABC right angled at B, if AB=12 cm and BC=5 cm, then sinC is equal to : 1

∞∑§ ÁòÊ÷È¡ ABC Á¡‚◊¥ ∑§ÊáÊ B ‚◊∑§ÊáÊ „Ò, ÿÁŒ AB=12 ‚.◊Ë. •ÊÒ⁄U BC=5 ‚.◊Ë., ÃÊ sinC ’⁄UÊ’⁄U „Ò —

(A)
5

13
(B)

13

5
(C)

12

13
(D)

13

12

1
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13. The value of cosec2678−tan2238+1 is : 1

cosec2678−tan2238+1 ∑§Ê ◊ÊŸ „Ò —

(A) −1 (B) 0 (C) 1 (D) 2

14. If sinθ−cosθ=0, where 08 < θ < 908, then the value of θ is : 1

ÿÁŒ sinθ−cosθ=0, ¡„Ê° 08 < θ < 908 „Ò, ÃÊ θ ∑§Ê ◊ÊŸ „Ò —

(A) 08 (B) 308 (C) 458 (D) 608

15. The probability of an impossible event is : 1

Á∑§‚Ë •‚¥÷fl ÉÊ≈UŸÊ ∑§Ë ¬˝ÊÁÿ∑§ÃÊ „Ò —

(A) 0 (B)
1

3
(C)

1

2
(D) 1

16. Which of the following is not a measure of central tendency ? 1

(A) mean (B) median (C) mode (D) class-mark

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ∑§ãŒ˝Ëÿ ¬˝flÎÁûÊ ∑§Ê ◊Ê¬∑§ Ÿ„Ë¥ „Ò?

(A) ◊Êäÿ (B) ◊Êäÿ∑§ (C) ’„È‹∑§ (D) flª¸ Áøq

17. Mode of the data, 2, 7, 5, 9, 5, 7, 8, 11, 5 is : 1

•Ê°∑§«∏Ê¥ 2, 7, 5, 9, 5, 7, 8, 11, 5 ∑§Ê ’„È‹∑§ „Ò —

(A) 9 (B) 7 (C) 5 (D) 4

18. Fill in the blanks : (Attempt any two parts from the following questions (i) to (iv)). 1x2=2

(i) H.C.F. of x3+1 and x2−1 is __________.

(ii) L.C.M. of x3+1 and x2−1 is __________.

(iii) Reciprocal of x3+8 is __________.

(iv) (2x2+5)2−(2x2−5)2=__________.

Á⁄UÄÃ SÕÊŸÊ¥ ∑§Ë ¬ÍÁÃ¸ ∑§ËÁ¡∞ —  (ÁŸêŸÁ‹ÁπÃ ¬˝‡ŸÊ¥ (i) ‚ (iv) ◊¥ ‚ ∑§Êß¸ ŒÊ ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U ŒËÁ¡∞)–

(i) x3+1 •ÊÒ⁄U x2−1 ∑§Ê ◊.‚. __________ „Ò–

(ii) x3+1 •ÊÒ⁄U x2−1 ∑§Ê ‹.‚. __________ „Ò–

(iii) x3+8 ∑§Ê √ÿÈà∑˝§◊ __________ „Ò–

(iv) (2x2+5)2−(2x2−5)2=__________.
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19. Match Column - I statements with the right options of Column - II.  (Attempt any two parts
from the following questions (i) to (iv)).

Column - I Column - II

(i) If x2+5x=0, then x is : (a) 2, 3

(ii) If x2−5x+6=0, then x is : (b) −2, −3

(iii) If x2−5x=0, then x is : (c) 0, −5

(iv) If x2+5x+6=0, then x is : (d) 0, 5

SÃ¥÷ - I ∑§ ∑§ÕŸÊ¥ ∑§Ê SÃ¥÷ - II ∑§ ‚„Ë Áfl∑§À¬Ê¥ ∑§ ‚ÊÕ Á◊‹ÊŸ ∑§ËÁ¡∞– (ÁŸêŸÁ‹ÁπÃ ¬˝‡ŸÊ¥ (i) ‚ (iv) ◊¥ ‚
∑§Êß¸ ŒÊ ÷ÊªÊ¥ ∑§ ©ûÊ⁄U ŒËÁ¡∞)–

SÃ¥÷ - I SÃ¥÷ - II

(i) ÿÁŒ x2+5x=0, ÃÊ x ∑§ ◊ÊŸ „Ò — (a) 2, 3

(ii) ÿÁŒ x2−5x+6=0, ÃÊ x ∑§ ◊ÊŸ „Ò — (b) −2, −3

(iii) ÿÁŒ x2−5x=0, ÃÊ x ∑§ ◊ÊŸ „Ò — (c) 0, −5

(iv) ÿÁŒ x2+5x+6=0, ÃÊ x ∑§ ◊ÊŸ „Ò — (d) 0, 5

20. In a flower bed, there are 23 rose plants in first row, 21 in second row, 19 in third row and so
on.  If there are 5 rose plants in the last row, then :

(i) number of rows in the flower bed is __________.

(ii) number of rose plants in 9th row is __________.

∞∑§ »Í§‹Ê¥ ∑§Ë ÄÿÊ⁄UË ◊¥, ¬˝Õ◊ ¬¥ÁÄÃ ◊¥ 23, ÁmÁÃÿ ◊¥ 21, ÃÎÃËÿ ◊¥ 19 •ÊÒ⁄U ß‚Ë ¬˝∑§Ê⁄U •Êª ÷Ë, ÄÿÊÁ⁄UÿÊ¥ ◊¥ ªÈ‹Ê’ ∑§
¬ÊÒœ „Ò¥–  ÿÁŒ •¥ÁÃ◊ ¬¥ÁÄÃ ◊¥ 5 ªÈ‹Ê’ ∑§ ¬ÊÒœ „Ò¥ ÃÊ —

(i) »Í§‹Ê¥ ∑§Ë ÄÿÊ⁄UË ◊¥ ¬¥ÁÄÃÿÊ¥ ∑§Ë ‚¥ÅÿÊ __________ „Ò–

(ii) 9flË¥ ¬¥ÁÄÃ ◊¥ ªÈ‹Ê’ ∑§ ¬ÊÒœÊ¥ ∑§Ë ‚¥ÅÿÊ __________ „Ò–

21. Students of class X in a school were playing “MATHSBOLA” during Maths week.  They
were asked to choose two numbers.  It was found that the difference between larger number
and smaller number is 5.  Based on this information answer the following :

(i) Linear equation in two variables representing the given data is __________, where
x > y.

(ii) If smaller number is 36, then the greater number is __________.

Á∑§‚Ë ÁfllÊ‹ÿ ∑§ ∑§ˇÊÊ X ∑§ ÁfllÊÕË¸ ªÁáÊÃ ‚åÃÊ„ ∑§ •ãÃª¸Ã “MATHSBOLA” π‹ ⁄U„ Õ–  ©Ÿ∑§Ê ŒÊ
‚¥ÅÿÊ•Ê¥ ∑§Ê øÿŸ ∑§⁄UŸ ∑§ Á‹∞ ∑§„Ê ªÿÊ–  øÈŸË „Èß¸ ‚¥ÅÿÊ•Ê¥ ◊¥ ‚ ’«∏Ë ‚¥ÅÿÊ •ÊÒ⁄U ¿UÊ≈UË ‚¥ÅÿÊ ∑§Ê •ãÃ⁄U 5 ¬ÊÿÊ
ªÿÊ–  ß‚ ‚ÍøŸÊ ∑§ •ÊœÊ⁄U ¬⁄U ÁŸêŸÁ‹ÁπÃ ∑§Ê ©ûÊ⁄U ŒËÁ¡∞ —

(i) ÁŒÿ „È∞ •Ê°∑§«∏Ê¥ ∑§Ê Œ‡ÊÊ¸Ÿ flÊ‹Ê ŒÊ ø⁄UÊ¥ ∑§Ê ⁄ÒUÁπ∑§ ‚◊Ë∑§⁄UáÊ __________ „Ò, ¡„Ê° x > y–

(ii) ÿÁŒ ¿UÊ≈UË ‚¥ÅÿÊ 36 „Ò, ÃÊ ’«∏Ë ‚¥ÅÿÊ __________ „Ò–

1x2=2

1x2=2

1x2=2
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22. Fill in the blanks : (Attempt any two parts from the following questions (i) to (iv)). 1x2=2

(i) Maximum number of common tangents that can be drawn to two non-intersecting
circles is __________.

(ii) At a point on the circle exactly __________ tangent can be drawn.

(iii) Tangents drawn at the extremities of a diameter of a circle are __________.

(iv) Maximum number of common tangents drawn to two circles intersecting at two distinct
points is __________.

Á⁄UÄÃ SÕÊŸÊ¥ ∑§Ë ¬ÍÁÃ¸ ∑§ËÁ¡∞ — (ÁŸêŸÁ‹ÁπÃ ¬˝‡ŸÊ¥ (i) ‚ (iv) ◊¥ ‚ ∑§Êß¸ ŒÊ ÷ÊªÊ¥ ∑§ ©ûÊ⁄U ŒËÁ¡∞)–

(i) ŒÊ •¬˝ÁÃë¿UŒË flÎûÊÊ¥ ¬⁄U πË¥ø ¡ÊŸ flÊ‹Ë ©÷ÿÁŸc∆U S¬‡Ê¸ ⁄UπÊ•Ê¥ ∑§Ë •Áœ∑§Ã◊ ‚¥ÅÿÊ __________ „Ò–

(ii) flÎûÊ ¬⁄U ÁSÕÃ Á∑§‚Ë ∞∑§ Á’ãŒÈ ¬⁄U __________ S¬‡Ê¸ ⁄UπÊ πË¥øË ¡Ê ‚∑§ÃË „Ò¥–

(iii) Á∑§‚Ë flÎûÊ ∑§ ∞∑§ √ÿÊ‚ ∑§ •¥ÁÃ◊ Á’ãŒÈ•Ê¥ ¬⁄U πË¥øË ªß¸ S¬‡Ê¸ ⁄UπÊ∞° __________ „ÊÃË „Ò¥–

(iv) ŒÊ ÁflÁ÷ãŸ Á’ãŒÈ•Ê¥ ¬⁄U ¬˝ÁÃë¿UŒ ∑§⁄UŸ flÊ‹ ŒÊ flÎûÊÊ¥ ¬⁄U •Áœ∑§Ã◊ __________ ©÷ÿÁŸc∆U S¬‡Ê¸ ⁄UπÊ∞°
πË¥øË ¡Ê ‚∑§ÃË „Ò–

23. Write true for correct statements and false for incorrect statements :  (Attempt any two parts
from the following questions (i) to (iv)).

(i) The point (0, −4) lies in the fourth quadrant.

(ii) Distance of the point (2, −3) from x-axis is 3 units.

(iii) The mid point of the line segment joining the ponits (1, 0) and (3, −2) is (−2, −1).

(iv) Radius of a circle having centre at origin and passing through the point (2, −3) is

13  units.

‚„Ë ∑§ÕŸ ∑§ Á‹∞ ‚àÿ •ÊÒ⁄U ª‹Ã ∑§ÕŸ ∑§ Á‹∞ •‚àÿ Á‹Áπ∞ — (ÁŸêŸÁ‹ÁπÃ ¬˝‡ŸÊ¥ (i) ‚ (iv) ◊¥ ‚ ∑§Êß¸ ŒÊ
÷ÊªÊ¥ ∑§ ©ûÊ⁄U ŒËÁ¡∞)–

(i) Á’ãŒÈ (0, −4) øÃÈÕ¸ øÃÈÕÊZ‡Ê ◊¥ ÁSÕÃ „Ò–

(ii) Á’ãŒÈ (2, −3) ∑§Ë x-•ˇÊ ‚ 3 ß∑§Êß¸ ∑§Ë ŒÍ⁄UË „Ò–

(iii) Á’ãŒÈ•Ê¥ (1, 0) ∞fl¥ (3, −2) ∑§Ê Á◊‹ÊŸ flÊ‹ ⁄UπÊπ¥«U ∑§Ê ◊äÿ Á’¥ŒÈ (−2, −1) „Ò–

(iv) ∞∑§ flÎûÊ, Á¡‚∑§Ê ∑§ãŒ˝ Á’ãŒÈ, ◊Í‹ Á’ãŒÈ ¬⁄U „Ò •ÊÒ⁄U ¡Ê Á’ãŒÈ (2, −3) ‚ ªÈ¡⁄UÃÊ „Ò, ∑§Ë ÁòÊíÿÊ 13  ß∑§Êß¸ „Ò–

1x2=2
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24. Fill in the blanks : 1x2=2

(i) PT is a tangent and PAB is a secant to a circle from an external point P.  (A, B lie on the
circle).  If PT=6 cm, AB=5 cm and PA=x cm, then the value of x is __________.

(ii) PQ is a tangent drawn from a point P to a circle with centre O and QOR is a diameter
of the circle such that ∠POR=1208, then ∠OPQ is __________.

Á⁄UÄÃ SÕÊŸÊ¥ ∑§Ë ¬ÍÁÃ¸ ∑§ËÁ¡∞ —

(i) PT Á∑§‚Ë flÎûÊ ∑§Ë S¬‡Ê¸ ⁄UπÊ •ÊÒ⁄U PAB ©‚Ë flÎûÊ ∑§Ë ’Ês Á’ãŒÈ P ‚ πË¥øË ªÿË ∞∑§ ¿UŒ∑§ ⁄UπÊ „Ò
(A ÃÕÊ B flÎûÊ ¬⁄U ÁSÕÃ „Ò¥)–  ÿÁŒ PT=6 ‚.◊Ë., AB=5 ‚.◊Ë. •ÊÒ⁄U PA=x ‚.◊Ë. „Ò, ÃÊ x ∑§Ê ◊ÊŸ
__________ „Ò–

(ii) O ∑§ãŒ˝ ∑§ flÎûÊ ¬⁄U Á’ãŒÈ P ‚ ∞∑§ S¬‡Ê¸ ⁄UπÊ PQ πË¥øË ¡ÊÃË „Ò •ÊÒ⁄U QOR flÎûÊ ∑§Ê ∞∑§ √ÿÊ‚ ß‚ ¬˝∑§Ê⁄U „Ò
Á∑§ ∠POR=1208, ÃÊ ∠OPQ __________ „Ò–

25. (i) PQRS is a cyclic quadrilateral and side PS is extended to the point A.  If ∠PQR=808,
then ∠ASR is __________.

(ii) PQRS is a cyclic quadrilateral, if ∠R=788, then ∠P is __________.

(i) PQRS ∞∑§ ø∑˝§Ëÿ øÃÈ÷È¸¡ „Ò •ÊÒ⁄U ÷È¡Ê PS ∑§Ê Á’ãŒÈ A Ã∑§ ’…∏ÊÿÊ ªÿÊ „Ò–  ÿÁŒ ∠PQR=808, ÃÊ
∠ASR __________ „Ò–

(ii) PQRS ∞∑§ ø∑˝§Ëÿ øÃÈ÷¸È¡ „Ò–  ÿÁŒ ∠R=788, ÃÊ ∠P __________ „Ò–

26. Fill in the blanks : (Attempt any two parts from the following questions (i) to (iv)). 1x2=2

(i) If 
5

sec   
4

θ= , then the value of 
2

2

tan

1  tan

θ

+ θ

 is __________.

(ii) The value of cosA⋅sin(908−A)+sinA⋅cos(908−A) is __________.

(iii) If cos   sin   2 cosθ+ θ= ⋅ θ , then the value of tanθ is __________.

(iv) The value of (sec2578−cot2338−tan2458) is __________.

Á⁄UÄÃ SÕÊŸÊ¥ ∑§Ë ¬ÍÁÃ¸ ∑§ËÁ¡∞ — (ÁŸêŸÁ‹ÁπÃ ¬˝‡ŸÊ¥ (i) ‚ (iv) ◊¥ ‚ ∑§Êß¸ ŒÊ ÷ÊªÊ¥ ∑§ ©ûÊ⁄U ŒËÁ¡∞)–

(i) ÿÁŒ 
5

sec   
4

θ= , ÃÊ 
2

2

tan

1  tan

θ

+ θ

 ∑§Ê ◊ÊŸ __________ „Ò–

(ii) cosA⋅sin(908−A)+sinA⋅cos(908−A) ∑§Ê ◊ÊŸ __________ „Ò–

(iii) ÿÁŒ cos   sin   2 cosθ+ θ= ⋅ θ , ÃÊ tanθ ∑§Ê ◊ÊŸ __________ „Ò–

(iv) (sec2578−cot2338−tan2458) ∑§Ê ◊ÊŸ __________ „Ò–

1x2=2
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27. A box contains 3 blue, 4 white and 5 red marbles.  If a marble is drawn at random from the
box, then what is the probability that it will be : (Attempt any two parts from the following
questions (i) to (iv)).

(i) white

(ii) blue

(iii) red

(iv) neither white nor red

∞∑§ Á«Ué’ ◊¥ 3 ŸË‹, 4 ‚»§Œ •ÊÒ⁄U 5 ‹Ê‹ ∑¥§ø „Ò¥–  ÿÁŒ Á«Ué’ ◊¥ ‚ ∞∑§ ∑¥§øÊ ÿÊŒÎë¿UÿÊ ÁŸ∑§Ê‹Ê ¡ÊÃÊ „Ò, ÃÊ
ÁŸêŸÁ‹ÁπÃ ∑§Ê ¬˝ÊåÃ ∑§⁄UŸ ∑§Ë ¬˝ÊÁÿ∑§ÃÊ ÄÿÊ „Ò?  (ÁŸêŸÁ‹ÁπÃ ¬˝‡ŸÊ¥ (i) ‚ (iv) ◊¥ ‚ ∑§Êß¸ ŒÊ ÷ÊªÊ¥ ∑§ ©ûÊ⁄U
ŒËÁ¡∞)–

(i) ‚»§Œ ∑¥§øÊ

(ii) ŸË‹Ê ∑¥§øÊ

(iii) ‹Ê‹ ∑¥§øÊ

(iv) ŸÊ ÃÊ ‚»§Œ •ÊÒ⁄U ŸÊ „Ë ‹Ê‹ ∑¥§øÊ

28. 10 members of a family went for a picnic to a hill station.  Due to festival season, they did not
get a hotel in the city.  The weather was fine so they decided to make a conical tent at a park.
They made the tent with height 6 m and radius of base 8 m.  Based on the above information
answer any five parts from following questions (i) to (vii).

(i) What was slant height of the tent ?

(ii) What was ratio of height to slant height ?

(iii) How much cloth was used for the tent ?

(iv) How much cloth was used for the floor ?

(v) What was volume of tent ?

(vi) What was total cost of cloth at the rate of ` 70 per square meter ?

(vii) What was the saving of money if the floor would have been covered by the bed sheets
carried by the family members ?

∞∑§ ¬Á⁄UflÊ⁄U ∑§ 10 ‚ŒSÿ Á∑§‚Ë ¬„Ê«∏Ë ˇÊòÊ ◊¥ ÉÊÍ◊Ÿ ∑§ Á‹∞ ª∞–  àÿÊ„Ê⁄UÊ¥ ∑§Ê ‚◊ÿ „ÊŸ ∑§ ∑§Ê⁄UáÊ, ©Ÿ∑§Ê ‡Ê„⁄U ◊¥
∑§Êß¸ „Ê≈U‹ Ÿ„Ë¥ Á◊‹Ê–  ◊ÊÒ‚◊ •ë¿UÊ ÕÊ, ß‚Á‹∞ ©ã„Ê¥Ÿ ∞∑§ ¬Ê∑¸§ ◊¥ ‡Ê¥ÄflÊ∑§Ê⁄U ≈ÒUá≈U ‹ªÊŸ ∑§Ê ÁŸáÊ¸ÿ Á‹ÿÊ–  ©ã„Ê¥Ÿ
6 ◊Ë≈U⁄U ™°§øÊ •ÊÒ⁄U 8 ◊Ë≈U⁄U ÁòÊíÿÊ ∑§Ê ∞∑§ ≈ÒUá≈U ’ŸÊÿÊ–  ©¬⁄UÊÄÃ ‚ÍøŸÊ ∑§ •ÊœÊ⁄U ¬⁄U ÁŸêŸÁ‹ÁπÃ (i) ‚ (vii) Ã∑§
∑§ ¬˝‡ŸÊ¥ ◊¥ ‚ ∑§Êß¸ ¬Ê°ø ÷ÊªÊ¥ ∑§ ©ûÊ⁄U ŒËÁ¡∞ —

(i) ≈ÒUá≈U ∑§Ë ÁÃÿ¸∑§ ™°§øÊß¸ Á∑§ÃŸË ÕË?

(ii) ≈ÒUá≈U ∑§Ë ™°§øÊß¸ •ÊÒ⁄U ÁÃÿ¸∑§ ™°§øÊß¸ ∑§Ê •ŸÈ¬ÊÃ ÄÿÊ ÕÊ?

(iii) ≈ÒUá≈U ∑§Ê ’ŸÊŸ ∑§ Á‹∞ Á∑§ÃŸÊ ∑§¬«∏Ê ©¬ÿÊª Á∑§ÿÊ ªÿÊ?

(iv) ≈ÒUá≈U ∑§ »§‡Ê¸ ∑§ Á‹∞ Á∑§ÃŸÊ ∑§¬«∏Ê ©¬ÿÊª Á∑§ÿÊ ªÿÊ?

(v) ≈ÒUá≈U ∑§Ê •ÊÿÃŸ Á∑§ÃŸÊ ÕÊ?

(vi) ≈ÒUá≈U ∑§Ê ’ŸÊŸ ◊¥ ©¬ÿÊª Á∑§∞ ª∞ ∑È§‹ ∑§¬«∏ ∑§Ê ◊ÍÀÿ ` 70 ¬˝ÁÃ flª¸ ◊Ë≈U⁄U ∑§Ë Œ⁄U ‚ Á∑§ÃŸÊ ÕÊ?

(vii) ÿÁŒ ≈ÒUá≈U ∑§ »§‡Ê¸ ¬⁄U ¬Á⁄UflÊ⁄U ∑§ ‚ŒSÿÊ¥ Ÿ •¬ŸË ’Ò«U‡ÊË≈U Á’¿UÊ ‹Ë „ÊÃË, ÃÊ Á∑§ÃŸ œŸ ∑§Ë ’øÃ „ÊÃË ÕË?

1x2=2

1x5=5
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SECTION - B / πá«U - π

29. The first term of an A.P. is −2 and common difference is 5.  Find its 10th term and sum of its
1st 10 terms.

Á∑§‚Ë ‚◊Ê¥Ã⁄U üÊ…∏Ë ∑§Ê ¬˝Õ◊ ¬Œ −2 •ÊÒ⁄U ‚Êfl¸•ãÃ⁄U 5 „Ò–  ©‚ üÊ…∏Ë ∑§Ê 10flÊ° ¬Œ ∞fl¥ ¬˝Õ◊ 10 ¬ŒÊ¥ ∑§Ê ÿÊª ôÊÊÃ
∑§ËÁ¡∞–

OR / •ÕflÊ
The 5th term of an A.P. is 23 and 12th term is 37.  Find its first term and common difference.

∞∑§ ‚◊Ê¥Ã⁄U üÊ…∏Ë ∑§Ê 5flÊ° ¬Œ 23 •ÊÒ⁄U 12flÊ° ¬Œ 37 „Ò–  ©‚ üÊ…∏Ë ∑§Ê ¬˝Õ◊ ¬Œ ∞fl¥ ‚Êfl¸•ãÃ⁄U ôÊÊÃ ∑§ËÁ¡∞–

30. The cost price of 25 articles is equal to the selling price of 20 articles.  Find the loss or gain
percent.

25 flSÃÈ•Ê¥ ∑§Ê ∑˝§ÿ ◊ÍÀÿ 20 flSÃÈ•Ê¥ ∑§ Áfl∑˝§ÿ ◊ÍÀÿ ∑§ ‚◊ÊŸ „Ò–  „ÊÁŸ •ÕflÊ ‹Ê÷ ¬˝ÁÃ‡ÊÃ ôÊÊÃ ∑§ËÁ¡∞–

OR / •ÕflÊ
A shopkeeper marks his goods at 20% more than their cost price and allows a discount of
10%.  Find his gain or loss percent.

∞∑§ ŒÈ∑§ÊŸŒÊ⁄U •¬Ÿ ◊Ê‹ ∑§Ê •¥Á∑§Ã ◊ÍÀÿ ©Ÿ∑§ ∑˝§ÿ ◊ÍÀÿ ‚ 20% •Áœ∑§ ⁄UπÃÊ „Ò •ÊÒ⁄U 10% ’^Ê ŒÃÊ „Ò–  ©‚∑§Ê
‹Ê÷ •ÕflÊ „ÊÁŸ ¬˝ÁÃ‡ÊÃ˜ ôÊÊÃ ∑§ËÁ¡∞–

31. A table was purchased by paying a cash down payment of ` 7,500 followed by ` 4,360 after
a period of 6 months.  If the rate of interest charged is 18% per annum.  Find the cash price
of the table.

∞∑§ ◊¡ ` 7,500 ÃÈ⁄¥UÃ ÷ÈªÃÊŸ ÃÕÊ 6 ◊Ê„ ¬‡øÊÃ˜ ` 4,360 Œ∑§⁄U π⁄UËŒË ªß¸–  ÿÁŒ Á‹∞ ª∞ éÿÊ¡ ∑§Ë Œ⁄U 18%

flÊÁ·¸∑§ „Ò, ÃÊ ◊¡ ∑§Ê Ÿ∑§Œ ◊ÍÀÿ ôÊÊÃ ∑§ËÁ¡∞–

OR / •ÕflÊ
A television is sold for ` 20,000 cash or for ` 5,000 as cash down payment, followed by
` 15,500 paid after 4 month.  Find the rate of interest per annum-charged under the instalment
plan.

∞∑§ ≈U‹ËÁfl¡Ÿ ` 20,000 Ÿ∑§Œ ◊ÍÀÿ •ÕflÊ ` 5,000 ÃÈ⁄UãÃ ÷ÈªÃÊŸ •ÊÒ⁄U ß‚∑§ ‚ÊÕ 4 ◊„ËŸ ¬‡øÊÃ˜ ` 15,500 ∑§
÷ÈªÃÊŸ ¬⁄U ©¬‹éœ „Ò–  ß‚ Á∑§SÃ ÿÊ¡ŸÊ ∑§ •ãÃª¸Ã Á‹∞ ª∞ éÿÊ¡ ∑§Ë flÊÁ·¸∑§ Œ⁄U ôÊÊÃ ∑§ËÁ¡∞–

32. Find the centroid of the triangle whose vertices are (5, 1), (3, −2) and (1, 7). 2

©‚ ÁòÊ÷È¡ ∑§Ê ∑§ãŒ˝∑§ ôÊÊÃ ∑§ËÁ¡∞ Á¡‚∑§ ‡ÊË·¸ (5, 1), (3, −2) ÃÕÊ (1, 7) „Ò–

OR / •ÕflÊ
Find the co-ordinates of a point which divides the line segment joining the points (1, −2)
and (4, 7) in the ratio 1 : 2 internally.

©‚ Á’ãŒÈ ∑§ ÁŸŒ¸‡ÊÊ¥∑§ ôÊÊÃ ∑§ËÁ¡∞ ¡Ê Á’ãŒÈ•Ê¥ (1, −2) ÃÕÊ (4, 7) ∑§Ê Á◊‹ÊŸ flÊ‹ ⁄UπÊπ¥«U ∑§Ê 1 : 2 ∑§ •ãÃ—
•ŸÈ¬ÊÃ ◊¥ Áfl÷ÊÁ¡Ã ∑§⁄UÃÊ „Ò–

2

2

2
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33. Find a point on x-axis which is equidistant from the points (7, 6) and (−3, 4). 2

x-•ˇÊ ¬⁄U ∞∑§ ∞‚Ê Á’ãŒÈ ôÊÊÃ ∑§ËÁ¡∞ ¡Ê Á’ãŒÈ•Ê¥ (7, 6) ÃÕÊ (−3, 4) ‚ ‚◊ŒÍ⁄USÕ „Ê–

34. AB and AC are tangents to a circle with centre O from an external point A.  If ∠BAC=508,
find ∠BOC.

AB ÃÕÊ AC, ∞∑§ ’Ês Á’ãŒÈ A ‚ O ∑§ãŒ˝ flÊ‹ flÎûÊ ∑§Ë S¬‡Ê¸ ⁄UπÊ∞° „Ò¥–  ÿÁŒ ∠BAC=508 „Ò ÃÊ ∠BOC ôÊÊÃ
∑§ËÁ¡∞–

35. The cost of a car was ` 8,72,000 on 01.01.2021.  If its value depreciates at the rate of 20% in
the first year and at the rate of 10% in the subsequent years, then find the value of car on
31.12.2023.

01.01.2021 ∑§Ê ∞∑§ ∑§Ê⁄U ∑§Ê ◊ÍÀÿ ` 8,72,000 ÕÊ–  ÿÁŒ ¬˝Õ◊ fl·¸ ◊¥ ß‚∑§ ◊ÍÀÿ ◊¥ 20% ∑§Ê •fl◊ÍÀÿŸ •ÊÒ⁄U
Á»§⁄U •ª‹ fl·ÊZ ◊¥ ¬˝àÿ∑§ fl·¸ ◊¥ 10% ∑§Ê •fl◊ÍÀÿŸ „ÊÃÊ „Ò, ÃÊ 31.12.2023 ∑§Ê ∑§Ê⁄U ∑§Ê ◊ÍÀÿ ôÊÊÃ ∑§ËÁ¡∞–

36. Find the median of the following data : 2

ÁŸêŸÁ‹ÁπÃ •Ê°∑§«∏Ê¥ ∑§Ê ◊Êäÿ∑§ ôÊÊÃ ∑§ËÁ¡∞ —

x i 5 10 15 20 25

f i 3 7 12 20 28

37. The mean of 9 observations was found to be 35.  Later on, it was detected that an observation
which was 81, was taken as 18 by mistake.  Find the correct mean of the observations.

9 ¬˝ˇÊáÊÊ¥ ∑§Ê ◊Êäÿ 35 „Ò–  ’ÊŒ ◊¥ ¬ÃÊ ø‹Ê Á∑§ ∞∑§ ¬˝ˇÊáÊ 81 ª‹ÃË ‚ 18 ¬…∏ Á‹ÿÊ ªÿÊ ÕÊ–  ¬˝ˇÊáÊÊ¥ ∑§Ê ‚„Ë ◊Êäÿ
ôÊÊÃ ∑§ËÁ¡∞–

38. The sum of squares of two consecutive odd natural numbers is 130.  Find the numbers. 3

ŒÊ ∑˝§◊ÊªÃ Áfl·◊ ¬˝Ê∑Î§Ã ‚¥ÅÿÊ•Ê¥ ∑§ flªÊZ ∑§Ê ÿÊª 130 „Ò–  ‚¥ÅÿÊ∞° ôÊÊÃ ∑§ËÁ¡∞–

OR / •ÕflÊ

One table and 3 chairs together cost ` 3,000 whereas 2 tables and one chair together cost
` 3,750.  Find the cost of one table and one chair.

∞∑§ ◊¡ •ÊÒ⁄U 3 ∑È§Á‚¸ÿÊ¥ ∑§Ê ◊ÍÀÿ ` 3,000 „Ò ¡’Á∑§ 2 ◊¡Ê¥ •ÊÒ⁄U ∞∑§ ∑È§‚Ë¸ ∑§Ê ◊ÍÀÿ ` 3,750 „Ò–  ∞∑§ ◊¡ ∞fl¥
1 ∑È§‚Ë¸ ∑§Ê ◊ÍÀÿ ôÊÊÃ ∑§ËÁ¡∞–

39. Prove that the angles in the same segment of a circle are equal. 3

Á‚h ∑§ËÁ¡∞ Á∑§ ∞∑§ flÎûÊπá«U ◊¥ •¥Ãª¸Ã ∑§ÊáÊ ‚◊ÊŸ „ÊÃ „Ò¥–

2

2

2
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40. Solve the following system of linear equations graphically : 3

ÁŸêŸÁ‹ÁπÃ ⁄ÒUÁπ∑§ ‚◊Ë∑§⁄UáÊ ÁŸ∑§Êÿ ∑§Ê •Ê‹πËÿ ÁflÁœ ‚ „‹ ∑§ËÁ¡∞–

x+y=5,

x−y=3

41. A farmer buys a circular field at the rate of ` 7,000 per square meter for ` 31,68,000.  Find the
cost of fencing the field with barbed wire at the rate of ` 140 per meter.

∞∑§ Á∑§‚ÊŸ ` 7,000 ¬˝ÁÃ flª¸ ◊Ë≈U⁄U ∑§Ë Œ⁄U ‚ ∞∑§ flÎûÊÊ∑§Ê⁄U πÃ ∑§Ê ` 31,68,000 ◊¥ π⁄UËŒÃÊ „Ò–  ` 140 ¬˝ÁÃ
◊Ë≈U⁄U ∑§Ë Œ⁄U ‚ πÃ ∑§ øÊ⁄UÊ¥ •Ê⁄U ∑§≈UË‹ ÃÊ⁄U ∑§Ë ’Ê«∏ ‹ªflÊŸ ∑§Ê ◊ÍÀÿ ôÊÊÃ ∑§ËÁ¡∞–

42. A die is thrown once.  Find the probability of getting : 3

(i) a number greater than 4

(ii) an even number

(iii) a prime number

∞∑§ ¬Ê‚Ê ∞∑§ ’Ê⁄U ©¿UÊ‹Ê ¡ÊÃÊ „Ò–  ÁŸêŸÁ‹ÁπÃ ∑§Ê ¬˝ÊåÃ ∑§⁄UŸ ∑§Ë ¬˝ÊÁÿ∑§ÃÊ ôÊÊÃ ∑§ËÁ¡∞ —

(i) 4 ‚ ’«∏Ë ∞∑§ ‚¥ÅÿÊ

(ii) ∞∑§ ‚◊ ‚¥ÅÿÊ

(iii) ∞∑§ •÷Êíÿ ‚¥ÅÿÊ

OR / •ÕflÊ

One card is drawn at random from a well shuffled pack of 52 playing cards.  Find the
probability of getting :

(i) a face card

(ii) a diamond card

(iii) a queen of spade

•ë¿UË Ã⁄U„ ‚ »¥§≈UË ªß¸ ÃÊ‡Ê π‹Ÿ ∑§ 52 ¬ûÊÊ¥ ∑§Ë ªaË ◊¥ ‚ ∞∑§ ¬ûÊÊ ÿÊŒÎë¿UÿÊ ÁŸ∑§Ê‹Ê ¡ÊÃÊ „Ò–  ÁŸêŸÁ‹ÁπÃ ∑§Ê
¬˝ÊåÃ ∑§⁄UŸ ∑§Ë ¬˝ÊÁÿ∑§ÃÊ ôÊÊÃ ∑§ËÁ¡∞ —

(i) ∞∑§ ÃSflË⁄U flÊ‹Ê ¬ûÊÊ

(ii) ∞∑§ ßZ≈U ∑§Ê ¬ûÊÊ

(iii) ∞∑§ „È∑È§◊ ∑§Ë ’ª◊

3
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43. Construct a triangle ABC in which AB=5 cm, BC=4.2 cm and median CD=3.8 cm. 5

∞∑§ ÁòÊ÷È¡ ABC ∑§Ë ⁄UøŸÊ ∑§ËÁ¡∞ Á¡‚◊¥ AB=5 ‚.◊Ë., BC=4.2 ‚.◊Ë. •ÊÒ⁄U ◊ÊÁäÿ∑§Ê CD=3.8 ‚.◊Ë.–

OR / •ÕflÊ

Draw a circle of radius 3 cm.  From any point P outside the circle draw two tangents PQ and
PR to the circle.

3 ‚.◊Ë. ÁòÊíÿÊ ∑§Ê ∞∑§ flÎûÊ πË¥Áø∞–  flÎûÊ ∑§ ’Ê„⁄U ÁSÕÃ Á∑§‚Ë Á’ãŒÈ P ‚ flÎûÊ ∑§Ë ŒÊ S¬‡Ê¸ ⁄UπÊ∞° PQ ÃÕÊ PR

πË¥Áø∞–

44. From the top of a tower 100 m high, the angles of depression of two cars on the opposite
sides of the tower are observed to be 608 and 458 respectively.  Find the distance between the

cars. ( )3   1.732=

100 ◊Ë≈U⁄U ™°§øË ◊ËŸÊ⁄U ∑§ ‡ÊË·¸ Á’ãŒÈ ‚, ◊ËŸÊ⁄U ∑§Ë •Á÷◊Èπ ÁŒ‡ÊÊ•Ê¥ ◊¥ ŒÊ ∑§Ê⁄UÊ¥ ∑§ •flŸ◊Ÿ ∑§ÊáÊ ∑˝§◊‡Ê— 608 ∞fl¥

458 ¬Ê∞ ¡ÊÃ „Ò¥–  ∑§Ê⁄UÊ¥ ∑§ ’Ëø ∑§Ë ŒÍ⁄UË ôÊÊÃ ∑§ËÁ¡∞–  ( )3   1.732=

OR / •ÕflÊ

At a point P on the level ground the angle θ made by the top of a tower is found to be such

that 
1

tan   
2

θ= .  After walking a distance of 192 m from P towards the foot of the tower, at a

point E on the level ground, the angle φ made by the top of the tower is found to be such that

3
tan   

4
φ= .  Find the height of the tower.  Also find the distance between the point E and Foot

of the tower.

ˇÊÒÁÃ¡ Ã‹ ∑§ ∞∑§ Á’ãŒÈ P ¬⁄U, ∞∑§ ◊ËŸÊ⁄U ∑§ ‡ÊË·¸ Á’ãŒÈ mÊ⁄UÊ ’ŸÊ ∑§ÊáÊ θ ß‚ ¬˝∑§Ê⁄U „Ò Á∑§ 1
tan   

2
θ= –  ◊ËŸÊ⁄U ∑§

¬ÊŒ Á’ãŒÈ ∑§Ë •Ê⁄U Á’ãŒÈ P ‚ 192 ◊Ë≈U⁄U ∑§Ë ŒÍ⁄UË Ãÿ ∑§⁄UŸ ∑§ ’ÊŒ, ˇÊÒÁÃ¡ Ã‹ ∑§ ∞∑§ Á’ãŒÈ E ¬⁄U ’ŸÊ ∑§ÊáÊ φ ß‚

¬˝∑§Ê⁄U „Ò Á∑§ 
3

tan   
4

φ= –  ◊ËŸÊ⁄U ∑§Ë ™°§øÊß¸ ôÊÊÃ ∑§ËÁ¡∞–  ◊ËŸÊ⁄U ∑§ ¬ÊŒ Á’ãŒÈ ∞fl¥ Á’ãŒÈ E ∑§ ’Ëø ∑§Ë ŒÍ⁄UË ÷Ë ôÊÊÃ

∑§ËÁ¡∞–

- o 0 o -

5


